[able 2 Logistic regression model for use of modern versus traditional contraceptive methods, Jordan Demographic and Health
Survey 2012

Variable Standard t-value Pwalue Odds ratio g5% confidence
error interval

Husband's desire for children
Both want same o006 0.225 .06 0579 Lo by 7= 1565
Husband wants more 0120 0.247 0.521 0.602 1.137 OFo0=1.848
Husband wants fewer -0.043 0.250 -0.171 0.864 0958 0.587=1565
Do not know (ref) L.O0O

Woman's education
Mone -0.230 0a.337 -0.683 0405 .79 OL4lo=1.540
Primary -0.274 0.245 =116 02685 il 1 OLgT0=1.231
Secondary o081 o118 0.683 0405 L.od4 0.859=1.367
Higheriref) L0

Regron
Central 0211 0087 2.421 0.0 1.235 Logl=14b5
Morth 51 0087 1742 0082 1163 aa31=1378
South (ref) L0

Residence
Urbam o185 0087 2128 0.034 1.20% Loig=1.427
Rural (ref) LK

Mother’s current age 0.027 0.010 2714 0.007 0.974 0.055=0.003

Parity 0152 0,038 3.097 0.000 1164 LOBo=1254




